normalized x?

Entries 312603
Mean
Std Dev.

Entries
.| mean
Std Dev

Entries
Mean

92 4 6 8 10 12 14 16 18 20

[[normalized x? probability ]

0.04f-
0.035f - -
0.03}
0.025f -
0.02
0.015

e
i i g

2030405060.7080 1

0.9

— X2 Prob(xz)
D —_T000evVT
= Dovongmar 10@0&7'( e
— D fmed4 T00Qev!
== DMt cpeoR 2000
T BOMIicheOK-SORTRZ2 1000evt
—— DOM it CPeOK_SORTRZ2 TESTOUTLIER2 1000evt
A2 = 5
— r B
© r =
] [
S 18 "
Y, o
< ~
v 1.6 o
o
1.4 \

=
[N}

w

< Xx2/ndf>
N
o
T

1.5

e

T

o

< op.Ip. > (%)

Ratio

0 3
TP n (PCA to beamline)

< x2/ndf>

Ratio

10°° 1072

-1
AR(track, jé’[?



	Contents
	Page 1


